Present Tenses Practice



Prescent Tencec

pyNNa BUQO-BPEMEHHbIX 2A020A0B, KOMOpPble Bblpaxatom gelicmBUSA PA3HO20 XapaKmMepQ,

npoucxogawue B HACMOAWEM.

Present

Simple

npocmoe geOcmBue, npoucxogauiee

pe2yAdpHO

Present Continuous

npouecc, npoucxogauw,uld B KOKOU-mo BpeMeHHOU NPOMEXYMOK

Present Perfect

gelicmBue, 30KOHUUBWEECH K MOMEHMY 20BOQEHUS U UMEoWEee pesyAbmam

Present Perfect Continuous

NEPOQOAXKUMEAbHOE gchmBue, 30KoH4YuUBWEeEEeCH (U/\U Hem) K MOMeHmMy

20BOpPEeHUd U uMeruwee pesyAbmam



Present Simple

VicnoAblyemcs gas:
- QKMYQALHO20;
- obw,eusBeCMHbIX PAKMOB;
- pacnuUCaHUS;
- pezyAspHbIX cobbimud;
- NOCAEQOBAMEALHbIX gelicmBuUS gpy2 30 QPY20M;
- peuenmoB U uHcmpykuud;

- B 3020A0BKOX (KHU2, 203em).

Present Continuous

MNcnoabsyemcs:
1. AelicmBue npoucxogum NpamMo celyac, B MOMEHM peyl.

2. ,A,eL"JcmBue PACMAHYMO BO BPEMEHU U hpoucxogum B HOCMoAaw,.eM, HO He
oz2paoHUYUBOEeMCcCH HOCTﬂOFlLU,eCI ceKyHgoO.

3. AelicmBue pa3BUBAEMCH UAU NOCMOSAHHO MeHaemcs.
4. AeAo 30NAQHUPOBAHO U 06430mMeAbHO 6ygem coBepweHOo B 6AualieM 6ygyuiem.

5. AQ20AbI cocmoaHua (O603HO\-IOP0m 4YyBCMBQ, YMCMBEHHbIE NPOUECCHI, KOmOopPble He
umMerom BpeMeHHbIX npege/\OB) He BblpOXaom gchmBue.

It usually (work) silent, but now it
(making) a very strange noise.

Tom__ (work) at the moment. Can | take a
message?

Look! It (be) almost 10! They

(expect) us to be on timel Butwe ___ (be) late
again!

How is your cold today. It (sound) a lot

better than yesterday.

He (believe) every word she
says.

[ (think) you need to use a
planner to make a proper working

schedule.

They___ (think) about new trade
strotegy.

| can’t (hear) you, the
connection (oet) worse. Let's

(oostpone) our call.



70 BE GOING TO

KoHcmpykuusd to be going to sBAsemcsa ogHUM U3 cnoco60B BblipaxeHus 6ygyu,ezo
,ZZ/;Z ufé'e)kauug mabmonoruw nocie KoHCmMPYKLUU to
BPEMEHU U UCNOAB3YEMCSH QAS BbIPOXEHUA HOMEepPeHUS CgeAamb Ymo-mo B Bygyulem

UAU 30NAQHUPOBQHHO20 gelicmBus. be qoing to xenamensto we ucnonssobams emoicnofoie

- 30NnAQHUPOBOHHbIe gelicmBus I'm going to visit SPA. maronsl to go (udmu) u to come ("F“X”‘)”W’)'

- npuka3bl You're going to stay herel
- NPEgNOAOKEHUS (OCHOBAHHbIE HO 06BEKMUBHbLIX dakmaX) It's going to rain.

Look at the sky!

I am going to play Iam not going to Am I going to play?
play

He is going to play Heis not goingto Is he going to play ?
play

She is going to play Sheis not going to Is she going to play?

play
We are going to play We are not going to Are we going to
play play?
They are going to They are not going Are they going to
play to play play?
You are going to You are not going to Are you going to
play play play?




He (move) to another city. He has already rented a flat there.

The flight number BA 308 from London to Los Angeles (leave) at 11.15.

We (sign) the documents after the discussion.

I'm sorry. We can't come at 10 oclock. We (meet) a doctor.

Fasten your seatbelts, please. The plane (land) in five minutes.

| (invite) 50 people to the party.

They (be) late because they've just left the house.

Why are you leaving? Have you finished your work?

No, | havent. But | (have) a rest now.

is going to

leaves

are going to

are meeting

londs

am inviting

are going to be

am going to have



Present Perfect

Present Perfect - amo Hacmoguwiee coBepuweHHoe BpeM4d, NOKAa3biBAOULEe,
4Ymo gchmBue COBEPUWUAOCH K MOMEeHMY 20BOPEHUSA U €20 pe3yAbmam
QKMYQAEH QAA 20BOpAWE20.

3aBepweHHoe gelicmBue B HOCMOSIWEM - BaxeH pedyAbmam!

° HesaBepweHHoe gelicmBue B HacmosiweM - gelicmBue, kKomopoe
HQYQAOCH B NPOWAOM, eWe He 30KOHYUAOCL B HOCMOSAWEM, HO
pe3yAbmam o4YeBUQEH.

° ®akm gelicmBus / AUYHBLIU onbim

Present Perfect Continusus

Present Perfect Continuous - HaOcmoswee gAUMEeAbHOE COBEPWEHHOE BPEMS.

[TokasbiBOEM, YUMO Mbl UMEEM QeAO0 C npoueccoM, KomOprCJ 30BEPWUACH UAU
NPOQOAXKOEMCHA KOKOe-MO BpeMd, HO NpuU 3moM eCmb kakoU-AU60
pPe3yAbmam, GKMyaAbHOCMb QAA 20BOpAULEe20 HO MOMEeHM 20BOpeHUS.

"'AazoAbl, He ynompebaaiouwuecs B Present Perfect Continuous,
ucnoAb3ytomces B Present Perfect .

He's waiting for us. He arrived 40 minutes ago.
a. He's been waiting for 40 minutes.

b. He waits for 40 minutes.

c. He's waited for Amy for 40 minutes.

We are planning to buy a new equipment. It's on
our purchase list.

a. We've already bought a new equipment.

b. We haven't bought a new equipment already.
c. We haven't bought a new equipment yet.

We didn't have English class this morning. It's
the last lesson, loter today.

a. We haven't had English already.

b. We haven't had English yet.

c. We've just had English.

We worked in the same company in 2006. It's our first
meeting since that time.

a. We haven't seen each other for a long time.

b. We haven't been seeing each other for a long time.
c. We've seen each other for a long time.



10.

Blaode path temperature (BPT) spread monitoring provides a back-up indicator to this
system and helps pinpoint where a combustion liner, for instance, may have an integrity
problem, such as a crack.

Protective monitoring systems have proved effective in ensuring the steam reliability and
flow characteristics for the closed-loop cooling-steam.

An SPP such as PCS does not have the luxury of a known steady load for its power needs.
They have been discussing the decision to stop manufacturing for a while.

It is still rotating, making it essential to aim the gas in the general direction of turbine
rotation.

These improvements have made GTEs the best choice for non-nuclear propulsion of naval
ships up to, and including, an underway replenishment ship in size.

The facility, consisting of an electric motor and cavitator, is making a very strange noise
while working.

It has been going well being under control of our specialists.

This type of construction is satisfactory for low-speed compressors where centrifugal
stresses are low.

Each pair of vanes in a stator acts as a diffuser.




This (make) it, in the forms of turboprop or turbojet This has made it, in the forms of turboprop or

Present Perfect

engines, the preferred engine for aircraft. turbojet engines, the preferred engine for aircraft.
This is because the engine and the starter Present This is because the engine and the starter are
(work) together. Continuous working together.

Diesel engines (give) good cruising range and Diesel engines give good cruising range and
reliob.ility, byt they (hove) a disadvantage when Present Simple reliobﬁlity, b.ut they h.ove a disadvantage when
used in anti submarine warfare. used in anti submarine warfare.

In civilian versions, hydrofoils (serve) for many In civilian versions, hydrofoils have served for
years to transport people on many of the Present Perfect many years to transport people on many of the
world’s waterways. world's waterways.

In terms of fuel economy, modern marine GTEs P In terms of fuel economy, modern marine GTEs
can compete with diesel engines and they may C rssent can compete with diesel engines and they may
even be superior to boiler/steam turbine plants ONHNUOUS even be superior to boiler/steam turbine plants
that (operate) on distillate fuel. that are operating on distillate fuel.

The air must (surround) the compressor at a The air must surround the compressor at a
positive pressure before entering the Present Simple positive pressure before entering the

compressor to ensure an undisturbed flow. compressor to ensure an undisturbed flow.









